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     �	��
�	��
 ���� �
 ���;� D<�" ��8C	  )    
�
 ��� ��/ �
 
��	   �!�P�(�
 �����
ΔE = mc2 ���"�
 �3� ����1 +��� O�� 9: �@	�8
�
 ��"�
 2(�� ���
 �(��8	 

8�
�
 ��		��
 ��P
���
� ��	��
�
 �235 ME    I	��!� ��;!� ��!@ ���
 �
���
 
0,223 ME��(�
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 ��=�
 �
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       H�= %��? F�� ��"	 ���$��
 ��� ��� I		��

 .      �!���7�
 ��!"$�
	 �!�=�
 �
	
��"�
 2(� +��8 �� *��" ���/ �@�8�
 T���M ������
.�
 ���
��
 ,��	  ��P��4�$

    �
� *��" ��
���
�     �
 ��
��= �
 �" ��8��	 9(��nucleon     +!�&� Y�&�
 E
 
 �����
��� ���"�� ����= ��� �
	�Δm = Σm – M)  �!@�8 ��
4�� �	��� ��� >����	 

�
 ���	� I	���ME =Mass Unit    �	!����
 ���� ���� 9P��4�$�
 >����
 ��� 
2He4����
 ��
��=�
 A	
=
 �
 ����
�
 ��:  

                             2.Protonos + 2.Neutrons + 2.Electrons              
2.1,oo727  +  2.1,oo865   +  2.0,00054 =  4,03294 ME                

       ����� ��P
���
 ���"�
 �1 %	��
�
 �
	1     ����
��!= �!�" A	!
=
 �
 ���(� �;�
����$�
   ..  

                    Δm = Σm - M                                               

               Δm = ( 4,03294 - 4,00261 ) ME = 0,030 ME   
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             ����
 �����
 ���
� 9: *��" ��"�
 2(�� ��P��4�$�
 ���
��
 ,�� ��
���
 
�� ���	
 ���� ���8��0,030 / 4,o3294 = 7,43874.10-3)   !'���(� I	��!� �!
 
��	  �
7,5/1000.  

         I	��
�
 ��8C�5
 +��8 �� ������
 �����
 E
 ����(
���	1/1000  �3� ���� �� 
'���(� I	��� �@�8 U��� �3� E�8��� �����5
 ���
� +��8 �� � 7,5  �
�
1 ��"

��8C�5
 +��8 �� �=��
�
 �@�8�
 �
.  

    5 �����5
 ���
� 9: ���         �� Y	!� ��� ����"�
 �
���
 Y	� �8C�	 ��(�  �

        ��8C�5
 ���
� 9: B��� �
" ��8C�5
 ���
� �;���� ���;�)      9!: �!�� �"�	 

   �!�P
���
 ��
��!=�
 �
 ��"�� ���
� �
�� ,�� �����5
 ���
�Elementary 

Particles ��"���
 +��8 �� B��� ����
��
 ,��	 ����" Y	� ��
��= ���;��
 
E��
�
 Synthetic Way���"�� ��=��
 U��� ���1 I1 ��		� �G  ��!=��
�
 ,��	 

D(�5 ����C� %	�O���
 
�� 9: �.   

 ��
��
 ,��	 � ��
�� � ��
� �  �
	��
 �����
   )        �1 �!����1 9!
���
 �7
�
 
��� ���
      �
 �
 	� �� 9P��4�$�
 ���8�� ��/�
        !�
 ���!@1 ����!�
 �!��
� +�(�� �"
 !

nucleon �	����
 ��� +�&� �
	��
 Heliumb �"
M
 ,�� ���/M	  �	(� �����
 ��" 
+�:��"�
  � I	��Δm = 0,030)   �!�" +�!$� �	����
 �
 ��
	 �;�" ��"���	 
8�
��������
 �����
�
 I	��� �
�;�
 ���	� :   

                           1000.0,030  / 4.033 gr = 7,438 gr   

��	
 �
 1 ��	��
�
 ���"�
 +�: ��
" �3� ��/7,438 gr  ����!�
 �!@�8 U���  
������
 �5���
�
 ��� I�=��
 ��$�
 �
 ��
" +
���
 �@�8 ����� 	1 I	���:    

E = 7,438 (3.1010)2 66,6.1020 erg 

   1erg = 107 Wsec  . 1Wsec = 1Joule 
1erg = 2,39.10-8 cal                                             
= 66,6.1020 erg . 2,39.10-8 = 1,59179.1014 cal 
1kgr  coal = 8.106 cal  
1,59179.1014  / 8.106 =  19,897.106 ≈ 20.106 Kgr coal                  
 ≈ 20.106 Kgr Coal       

o b e i k a n d l . c o m
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             �!�"

 �!��
��
 ,�� �3� �	(� ����
 �
	� �����
 A	?	
 ��	���	 ��$���	
              
�� �
 �	�
 ��(�
 9: ��
���
 �	���
 9: ���=	 �
" ��$��
 �@�8 98���O���
.  

            O
C!�
 9!: ��	!=	
�
 �����5
 ����
�� ,�� #�C� �����5
 ���
� ����(
�	) 
     ��
�=�
 ����7�
 �	=��
 �" 9: *��"	.        ����!�5
 ����
� 9: �&�� �3� E�8����	 

�� �=��� �3� �����	�8
�
 ��P��4�$�
	 ��
���
 ����8�
�
 ��$:   

1       �
���
 ��� *��"	 �
���
 �:��
�
 +��8 �� D5	     �!�� ��:��� �����(�
	 ��
�
 +	$� ��8�	 9: O
C�
 ��
�� �1! 15.106 k )    ��
�!��
 ,�!� 8�!�
 9:	

 : ��$��
�
V         ���3�
 8��
�
 
�� 9: ��	=	
 ��� �" �Ionized)  D8��& 98��	 �  �
 
  ��
�� ��
��= ��	
=
� H�P��4�:  <��
 �4�
 Plasma       �!�
�1 �!��
��
 ,�� �	=	�	 
    9��
 ��$��
�
 ��
���
   ?	
 +�8�� �3� �=�	  ���
L     ����!�5
 ���
� ��$��� �

9��� �
	 I		��
.   

����= ��PlasmaE  

�
! Plasma            ��!�	�51	 �
��!�
 ��
��!= ��	
=
 �
 8��& 	1 ��	
=
 
���	��"�M
	  )  ��
 ���" ��@�       ����
 	1 �	�C
 ��- ��@ ���(
 �	�C
 .   ��!(�
	 

       �
 ������
 ���� I��
 ��(�
 	� 
�� �	�C
�
         9!: ,�=� �
 
��	 8��&�
 
��� ��P��4�$
<��
 ��=4�
   Plasma ��
�"�
 ������
�
Completed Ionized Plasma �� 9��
 

'��1 ��� �=	� ����	C@ �	�� �
�� �� �����
 ��
��= 
. 9: ��	=	
�
 ���	��"�M
 
 ��	��
�
 ��
���
 ,�� 8��
15.106 kD<�@ ��"� 9��
 )��"���
 �@�8�
 ���  Y	�� 

      ���@ �($� ��� E$��� �
���
Coulumb ������� )         E!
 9!(��� Y	!��
 �
� ���	 
����� 	1 �	�� ��?��.  

            �@	�
 9: �=	 ��
���
 ��P��4�$�
 E
�=
�
 9: ���7"�
 ���
���
 ��� ����
 
���	
     �(��8 O
C��� �	=	
 	� �
" �?���
�   ����
 �
	� �����5 �) 
�	 � �8�
 �( ��!� 

�����
���:   

A  �
 �
�	� ���
�!Proton . Proton  or  P.P Zyklus    

o b e i k a n d l . c o m
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,�� �
�	��
 ���
�: P.P Zyklus   �!�����
 ��!=�� ���$� +��8 �� B��� 
������
 �5���
�
 ���:  

1H
1   +    1H

1   →   1D
2 + 1e

0 +ν 

1D
2   +    1H

1   →    2He4 

2He3 +    2He4 →    3Li7 + 1e
0 +ν 

3Li7  +    1H
1   →     2. 2He4  

 9(� 	1 �=	 �
�	��
 ���
� ����� 9:	4 Protons 1 �@
�
 9: �&� �
 )�!�
�� 
 �!=	 ��@���
 ���	�	���
 ,�� ��
 9:	  ���!
 5�!�  2Positons   *��!"	 2 

Neutrinos     ��(�
 �<��$� ���
�	 P.P         ��!
�=�
 �!���7�
 �	=��
 9: �
�� �=	� 
O
C�
 ��
�� �
 %&1 ��
���.  

B  � $�
 ��	� ���
�  #�
�!� �
 	1 ��=	�����
 ���� E
 ��C.N System  

             ��!� 9: �$C�"
 ��
�=�
 ����7�
 �	=��
 9: ���& ��	=	
�
 ������
�
 ���
��
 ,��
1938    9P��4�$�
 �
H.A.Bethe 1          �!��/��
 �!�@
�
�
 +!��8 �!� Optic-

Theoretical) 9��
��
 9P��4�$�
 �
 �@	�
 O$� 9: *��"	 C.v Weizsaecker 
���	   �!��
� ��	�!�
 ,�� ��
� *  Bethe Weizsaecker Zyklus )  [�C!�	

������
 �5���
���:   

                        6C12  + 1H1 → 7N13 → 6C13 + 1e0 + ν   

    6C13 + 1H1 →  7N14   
                          N14 + 1H1 →  8O15 →7N15 + 1e0 +ν7  

                                     N15 + 1H1 →  6C12 + 2He4
7   

  I1�     ��P
���
 ���
�
 �
	� �6C
12           �!����
�
 9!: �!�/� ��
	��
 ���
��
 ,�� 9: 

���&�
)   : ��
	��
 ���
��
 ,�� +��8 �� *��"	 V    2(�!� ��!�	�	���
 ��!� �4 
�=	 2(��
 
�� ��
	� �	����
 ����� ���
	 �
	� 2He4	 2Positrons  *��"	 

2 Neutrinos)  ��	��
 9: T�	
�" ���C ���
��
 ,��	������
:  

o b e i k a n d l . c o m



403 

  

  

  

  

  

   

  

  

  

  

  

:V            9: ���&	 O
C�
 �����
 �
� 9: ���� ��=	�����
	 ��$�
 ��	� ���
� �
'�	� ����7�
 �	=��

H
�
 �.   

          �� ��"$��
 ����	 *��� ��	��
 %�� 9: ��	=	
�
 �=����
 ���
��
 ,���  UP����
 
    �
 ����� 9: ��	=	
�
 ���&�
�5���
)    Y�� ���   #�1      Y	!� ��
��!�
 �������
 9:

  ��=	����
1H1    �	����
 Y	�	2He4       �!� ��	��
 %�� 9: UP��� �
 �=	 �
 �
1	
�6�����5
 ���� �&.   

 � �"�	6�=��&�
	 ��&
��
 UP����
 �&)  !8�1 �!
 *��"	 �������
 UP��� E?�	 9 
������
 �����
�
 9: ����
 �@�8�
 �
 U��	:   

                  4.1H1 → 2He4 +2.1e0 + 2ν  +2,73.1015 J mol  

8�
�
 �=��
�
 �@�8�
	� *��
� ���
�� �	�� �1 mol �
 ��� �	����
 ���� �
 
9����
 ���
 ��� �	����
 Y	� *��
� ��@ 9: D<�@ ��:                 

EHe  = Δm c2 = 0,0503.10-27 kgr.(2,99789)2.1016 m2/sec2 =  

o b e i k a n d l . c o m
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C    = 2,99789.108m.1/sec 
       = 0,435.10-11J = 28,3 MeV                                       

�4= 9!!: �!!���
�
 �!!@�8�
	!!P �!!�
	 �1molI	��!!� �	!!=�
 ��!!�	�                : 
0,435.10-11 Joule.  

 ��
	 �	
 	��" 9: ��	=	
�
 �
���
 ��� �
11.k mol  ��!� I	��� �	��� 
1:	�"��5
 	������
 ���<8:   

                             N = 6,02.1023 .1000  = 6,02.1026  

 �	��� �	
 	��" T���M	1.kmol Helium������
 �����
�
 I	��� �@�8 ��
4�� :   

                 EHe = 0,435.10-11 . 6,o2.1026 ≈ 2,7.1015 Joule   

   �	(� 
���	�      *��"	 O
C�
 9: �����5
 �      �
 U��
�
 ��
�=�
 ����7�
 �	=��
 9:
 �����
 �<��$�4            �!�
4�� *��!�	 �	��� ��� +�& 	1 T���M ��=	��� Y	� E��1 

������
 �����
�
 ��	��
�
 �	����
 �
 ��
	 �;�" �����5 �@�8:     

           EHe = 2,73.1015  Joule = 8.108 kWh                   

                         1Joule         =   2,78.10-7 kWh    

             2,73.1015 J         =      x. kWh                  

         x = 2,73.1015 . 2,78.10-7 =  7,589.108 ≈ 8.108 kWh       

                                                      = 8.108 kWh   

    
 ����	�
 �@�8�
 9� ,��	     ��(��
�� ���� B��� 9��)     ��� O
C�
 �@�8 �
 ��@
W��
. (  

             �	����
 �
 �;�" �����
 �
 ��$��
�
 �@�8�
 ,�� �� ����&
 ��": �&3� ���
          � �	��
�	��
 ���� �
 �;�" ��8C�
 �
 U��� �
 �@�8 ���(
��  �����    U�!�� �
 �@�8

            �&3� ��@�8�
 ,�� ���(�� I�=��
 ��$�
 �
 �;�" +
���
  �
    �!=��
�
 �@�8�
 D5	1
�����5
 +��8 ��:   

1 � ������ "�#��� 7�", �� �D����� �1�,��   

 ���" �1 %	��
�
 �
1.kmol Helium  I	��� 4 kgr =): 
���	 V �����
 �
�
 ���	� �@�8 98�� �	����
 �
 �	
 	��" !kWh������
 �����
�
 I	��� :   

o b e i k a n d l . c o m
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                        E1 = 8.108 kWh / 4  = 2.108 kWh  

 +�& 	1 T���M	1kgr Helium  �@�8 U��� ��=	����
 ��� �����
 +��8 ��
I	���:  

                       200.106 kWh                 =   

2 ������� "�,��� 7�", �� �D����� �1�,��   

          �	��
�	��
 ���� �
 ��
	 �;�" Y	� ��8C�
 +��8 ��	235     �!@�8 U�!�� 
I	���:   

                           E2 = 80.1012J ≈ 20.106 kWh  

      1Joule = 2,78.10-7 kWh 80.1012.2,78.10-7 ≈ 20.106 kWh  

                          ≈ 20.106 kWh               

3 � 2"D&�� �&��� �� �&�� �>
% 7�"�&� 7�", �� �D����� �1�,��   


 �
 ��
	 �;�" +
���
 +��8 �� I�=��
 ��$��������
 �@�8�
 U��:   

                       E3 = 32.106 J ≈ 10kWh  

    1 Joule = 2,78.10-7 kWh  32.106 .2,78.10-7 = 8,89 kWh   

                                      ≈ 10 kWh   

 �
 
��	1 �����
 �3� ��/1kgr Helium   I	��!� �@�8 U��� 200  �	!��
 
KWh.  

�	    
�� �	(� ���      	��� 9��
 �����5
 ���
� �((�� H�(��8� �����)  �	!"�:   �'��!"
  
������\�G       �����@5
 *��"	 ���P��4�$�
 ���
���
 �" ����
 
���	 	     ���!��
 �" 9: �

  	��� 9
���
	 I����@5
�      5 ��P�� �$�/� �@�8" ��(�(�� >
�	      �!��<��$� �
 �(�� 
��8C�5
 �<��$�")�
	
 ���(� �P���
	 ����8�
	 ����\� ��?
 ��C
 .  

 �	(�	 �	��::          ����!�5 �����"
M
	 +�8�
 �
 ���� �=	� �����5
 ����
�� 
�$�$&�
 ����
.    

            �!��8�� 9!��
 ������
 �����5
 ����
�� 9(��� +�8�
	 �����"
M
 ,�� �
	
���;� ����C
 �@�8 ��&�M ������� ����" �@�8 ��"	 UP���.   

o b e i k a n d l . c o m
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�1 ��@	 �1 ����� �=� �����5
 ����
�� 9(��8��
	 9
���
 A	?	
�
 9: �&�� 
    W�� 9: +
����

�� �����5
 A	?	
 ��$��� �
�
�
 8�(�) �����
 ����
� D<7
 

       M
 ������
 O"� +��8 �� �
P�(�
 ����
 �
	�     �!���=�M
 ����C!�� 9"�����	��"�
����(���  ?�� �
 ��   �
 ����
 �@�8 ���@ F��� ��� ���@ ����)   ���!@ +	!$�	 

       ����� ���@ ��� ��;�� 9��
 ������
Coulumb.        �!@�8�
 ,�!� T�!��� ���
�	 
������
 �����
��� ����/�:   

                               E = 1/ 4πε0 . Z1e.Z2e / R0  

I	��� ���<8�5
 ,��	:   

  Z1,Z2  =  �� E
 �������
 �=� 9��
 Y	��� ��
�/��
 �
���
W.  

    E  =      I	��� ��P
���
 �
��=�� ��P����"�
 ���C�
1,602.10-19.C .  

  R0   =       �!@�8 +	!$� 9��
 ����
 �@�8� ������
 �8�	�
�
 �8(��
 �:��

������
)��	 ,  I	��!� 9��
 �$�$&�
 �
	��
 �8@ �	8� �����(��
 �
�(�
 ��� 98�1≈ 

5.10-15m  .  

 ε0        =    (��
 ����7 9P����"�
 �8,8542.10-12C.V-1m-1 .  

            �!@�8 ��
4�� ��"�����	��"�M
 ������
 �@�8 ���@ ��� ��;�� 	1 +	$�� ���	
������
 �����
�
 I	���:   

                E = 4,615.10-14 Z1 Z2 Joule = 0,28 Z1 Z2 MeV   

 ���
��
 ,��� ��� ) �����
�
 Y	��� ��
�/��
 �
���
 ��@ ��? Z1 Z2W��� ) 
  �@�8�
 ��"�	 E$���.            �!7
 �!$�$&�
 Y	��� �"

 �����5
 �3� ���� ����
 
���	 

�
 ���� *��"	 �	����
	 ��=	����
 !Lithium Isotop.   

���"� ��� 9�3� �3� �=� �8(� ��� �"�	) !�
 �
�� 	�	 ! Tunnel effect 
              Y	��!
 �!�� ��
��=�
 �@�8 �	"� �
� ��� �����5
 B��� #�1 I1  �!@�8�


����
�
)              8�!8��
 �!��
� 9!: E$��� �<��$��
 ,��� �>�$"�
	 ��	=�
 ���
� *��� 
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�@�8�
)            ����� ��
�/��
 �
���
 �
� E$��
 %	��
 �� ��� ��� ���$��
�
 �@�8�
	 
'��
	 I	���	 ��	���
 �	"� ��=	����

 .  

                   Z1 = Z2 = 1                     

�	��3   �
 �"   �����
 ���
�Nucleons       ��;��
 	1 +	$��
 +��8 �� ��=	����
 
M
 ������
 ���: 9"��������	��"�V I	��� ��
��=�� �@�8 ����� �	"� �1 �=� #�  

                    E = 0,28 MeV                

        ����"
� ����
 �
	� �����
 ����
� �����
� �=	� �?�1 *��"	�� �7
 ��  �	��
�� �
���
���	 �
����
�	 �����5
 �@�8 �:   

1 � �����
�
 	1 ����
�
 �4�=�
  Accelerators.  

2 �9
���
 ���
�   heating) $
 [�C� %	�D<�E����
 ��(�
 9: (.  

�����
�
 Accelerators �           ��!��=��� �!"� �!� ����
�
 �4�=�
 ,�� �� 5
      ���C	 ��"� 9��
 ��	�C
�
 ��
��=�� ����
�
 �4�=�
     ��� +��� O�� 9: 

 ����
���
 ����&.        ��	�C!
�
 ��
��!=�
 A��!� 9��
 �����
�
 ,�� �����
�	 
,��	)  ��
��=�
 I1 ) � V��
          �����!
�
 ,�!� 9: *��"	 ��$��
 �@�8 ��"� ���

     ��
	 ,�=�
 9: ��	�C
�
 ��
��=�
 *����) 	 �      �!@�8�
 O$� ������
 9: �
�� *�
.  
     �&5
 ��� �
 ,�� A�����
 ���
�	       ��� ��� ��P��4�$�
	 ��(��8��
 �����(�
	 ���1 ���

�����5
 ����
� ���	 ��	=� �����
.     

20 � 2 �/�
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 �/��
	
 1B-�,�	
 AC��>   

 Thermos - nucleons Reactions  

�  9
���
 ���
� � heating           �!�	�8
�
 �!@�8�
 �!�� ��
��!=�
 ��	� *��" 
��$��
�
)      5
 ����
� 9: B��� �
 
��	    �	=��
	 O
C�
 9: �����.    *�!�� �"�	 

      �P�8� ���� �����5
 ����
� �	=��
	 O
C�
 9:)   *��� �"

�
 �
	    �	!"� �1  
  *���
 '
/�
 ��
��=�G�         !: �@�8�
 ��"� W��
 ��� �����5
 ���
�� �"�	 V �

  ��
��=�
9��
 1�&�        : �!�$��
�
 ��
���
 +��8 �� �@�8�
 T���M V !���  !� ���
	� �"���� A����      ����� 
���	 ��/� 	1 ����� �	�� � ���@�8	 �    ��(��� �$��&
 F��� 
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        �4=�
 ��/�� �1 4�;�
 9: %	��
�
 �
	 �����
 ��/��	P  ��
����� +���
 ��)  
��	 
 �	���  ��/�� �	��@ ���
� ��Maxwell5 ���	  A	?	
�
 
�� 9: +
��� �1 ���� 

I�/��
)    �	(� �3� 9$�"� �"�	  #��     
 ���
��
 ,�� 9:   I��
 �����5
 B��� ��=�	
��
��		��
 ���
���
 �<��$��
 T�	
� ���
� ��
 #�8��.  

��		��
 ���
���
 �<��$���� ��$�	 Thermos Nucleons Reactions �1 !�� 
           �"��C
�
 ��
��=�
 ����� �
 ��	�8
�
 ��"���
 �@�8�
 8��
 9: Y	��
 �����


�
��=	 9����
���
 ��"����
 9:  .  

20 � 3  D��	
 () �����E
 �@�;	
   

  �(�� ��
4�� ����          �����
 +	: ��$��
 ��
�� �
	��
 �����
 ���
�� ��=
	�
 �@�8�
 �
'���(� I	��� �100.106 k �	��
 �P�
 kelvin  �!��
�� ��
4�� 9��
 ��
���
 ,��	 

      O
C�
 ��@ 9: ��	=	
�
 ��
���
 ����� �����5
)      8��& �=	� O
C�
 9: *���	 
 ��
 �
       <��
 �"C �	"� ���	C@ �
 ����� �
��� Y	4   �!
Plasma)     �!
 
�!�	 

             ����!� ��� ��"���
 �	=��
 ���	 O
C�
 9: �	=	
�
 �����5
 �
 8��&�
 I	���
             ��!� [	
��� �
	
�
 ��(�	 �	����
	 ��=	����
 �
 8��&�
 
�� 9: ��	=	
�
 ��"�


57 :41  :	3��� ������
 ��	��
 :   

  

  

  

   

  

  

 ���
 9:	  �	(�	 �	�� O:�:
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 ��
���
 9� �M ��
 ���� 9:	 ��
��=�
 ,�� A
    �����5
 ����
� �	&�� ��� �@�8 U��) ���$��!
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  ���$��
�
 ��=	�	�"��
 �@�8�
) � ���           ��!��
� �!
 B�� �
 ��@�8 �" T���� �
 
��
 ��@ �
 �� �����5
�.    

20 � 4FFFF�'�	�
��	
 1�FFFF�G��	
   A�FFFF�>3� ����FFFF>B	 �FFFF
���	
 �
�@�;	
  

   ����� +�8�	���
��    #=
	� 9��
 �<��$��
 +�(��      �!=	� �� ���
���
 ��		��

 ��� ����      ��$��
�
 �
4<�
 ��
���
 �	=		 T���� ��	�� ) *��"	  ��	��    �	!=	 

(��8� �              E��!��	 ���!�� ��!�
 #
=� >��	 9: ��
���
 ,��� Y	��
 /$�	 ��
=�
���5
 ����
������5
 ��": +�(��� ���	���
 ,�� �" E
 ��) 	 >�
���
 ,�=	 �


�P��4�$�
	: 9
���
 �����
 �" 9: �V	
��� ���� ��
 �	�� 1	 
 �@	 �
 ����@
�1 �� 
         ��7"�
 ����
�
 �" �
 
	��&��� �L
 ��� �����5
 ��": ��=	)�   ����
 
���	 

        	�	�"��
 ���	���
 ,�� �" E
 �"

�
 �
 �� �	(�    �����!�@5
	 ��P��4�$�
	 ��=
          �@�8�
 T���M ���
���
 �����5
 �<��$�� �"���	 �	�(
�
 %���
 ��� ��� �3�b 

	1�	@1 ���& ��:�
 %��� �
 !Action �
 *��" %��� �1 �=�  !Reaction )
           ��- �����5
 �@�8 T���M 
	��	� ����
 +��8 �� >�
���
 �"�	�
 ����� �8��
: 

(��8 D<7
��  E����
 ��(�
 9: ����C ��� 9�3� %	� 9��
 ����=	����
 ����(�
 E���
               ��!��
� �!�� �"��!�
	 ��8��!�� +��8 �	=	 ��
�� �?���
 �@	�
 9: �"�	

  �@�8�
 F��� �����5
G     � ,�� �����5
 ���
� �� B�� � (��8 �?$�   �<��!$��
 
������
 ��		��
 ���
���
:   

��� L
    ���=��
 +��8 �� �=	 �    ��=	��!��
 Y	!� ����!�5 �
����&5
	
 ����
 ��	��������
 �<��$��
 ��:    

                      1H1 + 1H1   →   1D2  +  0e
1 + ν   

                             1H1 + 1D2   →   2He4 + γ  

                             1H1 + 1T3     →   2He4 + γ  

 	1 ���	� ���
�� �"�	�
 �����
!Hydrogen Isotope    ��	!=	 F!�� �=	 
���;�)    � �� ����
 
���	 6      ��!���5
 ���� ��=	����
 ���	� �<��$� �&)   �!"�	 

 �=	 ��		� ���
�� �<��$� �
����&
	 �����@ E������ �<��$��
 ������ ���?:�
 
������
:   
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1 � 	����� .D.DD.D Reaction   

      1D2 + 1D2   →     1T3 + 1P
1 +  4,03 MeV   Proton Branch           

 1D2 + 1D2   →   2He3 + 0n
1 +  3,27 MeV Neutron Branch           

 �
� #�3� ��/� �5���
�
 ,��2 Deuterons
���� �  (��� �!�$��
 �!@�8  !��� 
�=4�
�	�  
�?�� E
 � �=��� � 	� �
 ����= )        �=��1 ,�� ��	�
 �����
��� ,
�� �
 �7
 


	� �
 ���� �
 ����= � 1T3 )I	��� �@�8 E
4,03 MeV ) *��"	 Protons 
�
	� �=��1 ����7�
 �����
�
	 2He3)    I	��!� �!@�8 E!
 3,27 MeV)  *��!"	 

Neutrons     ��
�!� �=��
�
 ��@�8�
 ,��	 �         T�!���	 +!�&� �!�"���
 ��!@�8�
 
��
��=�
.  

�
 ���� T���V�	  !1T3 = Triton !�
 E
 
�� T4
�  !Deuteron)  ,�!��	 
         �
 T���V� �(��8�
 O$�� *��"	 ��$��
 �����
 �@�8 U��� ���
��
2He3   ,�� E?� 


 E
!�Deuteron  .   

     ��$��
 �@�8 U��� *��" ���
��
 ,���	)     !���/� ��!��
��
 ,��	 �   �5��!�
��� 
������
:   

2� 	�����  D.1T
3 Reaction .D.T.   

                          1D2 + 1T3  →  2He4 +0n
1 + 17,6 MeV   

3 �	�����  D.2He3 Reaction   

                         1D2 + 2He3  →   2He4 + 1P
1 + 18 MeV  

 
 ���	I�� 1            �=��� �"� �� �5���
�
 ,�� +��8 �� ��$��
 �@�8 �
 U���  �
 5
  �	����
 �
	� +�&.   Y��	 1       �����
 ���
� �
 �=��
�
 ���	��	���
 �D.T  E�8��� 

��
���� �1���- �����5 �
 �� �
�
 �7
 Y	� !Lithium Isotope 3Li6  ��@ E

 I	���7,5 %�
 ���� �
  !Lithium9���8�
 )  +!��8 �� 8��&�
 
�� �
	 

     �
 ���� U��� ���	��	���
 ���$� ��73�! 1T3  )       ��!�� #��= �
 
�� E
 I��
	
       5���
�
 ��� ����=	����
 ����(�
 9: �����
 ���
� ���      9!: E��!��
 [�C�
	 �

 ��(�
20 �1.4   

4 �  	�����3Li6.0n
1 Reaction  

           3Li6 + 0n
1   →    2He4+ 1T

3 + 4,6 MeV                
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20. 1.4#�� �
��
��  � ����D�"�  

  

    ��- �����5
 ���
��

�          ���!C	 ��!"� �@ ����=	����
 ����(�
 9: #� �"�

D<�$    �5
 ����@ �
 ���(
���         ���8�
 �"��� ��
���
 ���?(�
 ���� ���	 I		��
 ��8C

          ����(�
 9: ,�� �����5
 ���
�	 ���
���
 �����5
 �<��$�� ��P��4�$�
 ����
����
 5 ����=	����
   ���� �          ��!=$�
 ��7��1 9��
 ��$��
�
 ��
���
 T���� +��8 �� 5

       �(����
 #�
�� 4��=" ��
���
 ��8C�5
 ����@Igniter �   ��
 ����(�
 �&
�����=	��.  
      ��
 ����(�
 �����5 �=��
�
 ��	�8
�
 ��
���
 ,��	�  '���(� I	��� ����=	��  ��
�� �

 ��	��
�
 O
C�
 106 K �=��Kelvin.)  ��
�!�� �	�(
�
	 kelvin  �1  �!"
      ��
�� A�$���� 8;?�
 O$� 9: ��
�� 4�;�
 A
	�1..1k1 )  ��!
��
 I1/273  �!
 

 ��
�� ��� �=��
 I	��� �����0 C = -273 k.   

 ����(�
 ,�� 9: ��
���
 9��
 �����5
 �
	
	Lithium Deterred .LiD ��� 
   �����
 �
���� �1 �=�3Li6 E
 8	�&
�
 7,4%�
 �
  !Lithium 9!���8�
 . 

   �����
 �"�	3Li7  ��� I	��
�
 92,6%   �
 �!
 Lithium 5      �!��
�� F��!� 
�����5
.  

(�
 9: �����5
 ���
�	��
 �����������
 �5���
�
 ��� B��� ����=	��:   

                                 3Li6 + 0n
1   →     2He4 + 4,6 MeV  

                                                             ↓                    

                    1T3+1D2 →   2He4+0n
1+17,6 MeV  
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  � ����� ��� ���
��
 ,�) 1        �����
 ����(�
 ��8C�
 �
 �=��1 9��
 ���	��	���
 ��&
    �(��� 4��=" ��
�� ���" 9��
)         �<��!$��
	 �!�P��4�$�
 �!�
�
�
 ,�� �=���	 

������
 �����
��� ����/�:   

                      3Li6 + 1D2  →   2.2He4 + 22,2 MeV  

     �	=	 �=��1 ���
��
 ,��	2.2He4  �
 Y	� �
 �
	� �����
 !Lithium  E!
 
�
 �
	�! Deuterium) !�
 �
 ��:�" ��
" ��=	 
�� �"�	 !Triton . 1T3  ,�!� 

������
 �<��$��
 ����	 ����:   

                          1T3 + 1T3  →    2He4+ 2.0n
1 + 11,3 MeV  

������
 ��	��
 ����
� E��� *���	:   

                   3Li6+0n
1  →   2He4+1T3+4,6 MeV  

    ↓                                                             

                       →1T3+1T3 → 2.0n
1+11,3MeV   

                                                 ↓        

       3Li6+ 0n
1 → 2He4+1T3 +4,6 MeV   

     	� �
 ��� ��� �
 
��	���
 
 �7�  �
 �
 ��Lithium 1     Y	!� B<7 U��2He4 
�
 ��
���
 �	��Triton .1T

3) ��
���
 +�8�
 �
 ��7" �=	� �����5
 ����
��	 
f�3� �� 9��
 ����
�
��"� ��� �.    

20 � 2.4�����  	 "�#��'� Fusion Reactors  

�<��$
 �������5
  Fusion Reactors  %	!� ��(��
�� �   ��!� �!
�

 �����
�
������:  

                 3Li6  +  0n
1      →    2He4  + 1T

3 + 4,6 M2V  

    � �����<� ��
���
�
 ���CM
 �
	
6          !�
 �!��
 �!�	�
 �!=���
 9!: �& !
Deuterium  =�	  �  �
 ���
 #��  !Lithium)         �	�
 9!: �!=� *�� ��� �	<�	 

      �
 ���� �
 �:	��
 ��
" ��&�� *��"  !Tritium     ���
� ��
�� 9:  ����!�5
G 
           1 �����5
 ���
� �
 U��� W��
 ��� ,�	=	 ���(�
	 EC
�
 �����
 
��		  �
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�
 �7
 ��@���
 �
	
�
!Deuterium*��"	 �V: �
 ���� ! Lithium  ��7"� �	=	

 W��
 ���)              �!�
6
 ����!�<� ���!CM
 �
	
 �3� �
�
 �8(�" �"6� �
 
��	 

  W��
 ��� ��	=	
	)  5 *���	   $� ��
4��     ���&� 5	 `���   �
" �	��
�	��
 ����
     <��$
 9: �@�8�
 T���M �����
 9��  ����
 ��8C�
  .     �!
 ���$��
�
 �@�8�
 T���M	

 ��� ��
����� B���	 ���� 9��
 �����5
 ���
�6 Deuterons  ��!@ ��/� ��� 
@�8�������
 ��@���� ���:   

E = 3,27 MeV+4,03 MeV+17,3 MeV+18,3 MeV+2,46 MeV = 52MeV                  

                                   E= 52 MeV                                                  

 �" �3� I	��� �
 
��	deuteronsI	��� �����
 �@�8 98�� 8,7 MeV.   

   �@�8�
 ,��	�            9!��
 ��@�8�
 �" �
 ���$��
 �@�8 ��"1 �	"� �((�	 ��=	 
�
��=	  �L
 ��� .              �!� ���"�!� �1 �!=� �
�
�
 >��C�
 �
 ���� �=	� 
���	 

   �@�8�
 T���M �����5
 ����
�)           �
 Y	� E��1 �����
 ���
� 9: ���=	 �
 #�1 I1 
    �	��� ��� �=��1 I����
 ��=	����
)    ���
��
 ,�� 1�=I    D(��� 9
�� �� ��� �..  ���

    � ����
�
 ���
��
 ,�� ����(
�����  ���
� �7
     �	��� ��� ��=	����
 ���	� )   �!"�	 
       � O
C�
 ��� �����5
 ���
� �1 ��� *��" �� �
 
��� ���  ��	"�!
�
 ���
��
 5

D<�@)�
 �����
 I1 !Deuteron     U�!�� �!� �����!��
 9: #�1 �
" �	��� ��� � 5
�	����
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 �����
 �
 ���$��
�
 �@�8�
	!Deuteron      !� �	!��� �
	� ��� 9   �!@�8�
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  X� 9��
 �
/ 5 %�         !D(�5 �"�� %	� 9��
 8�(��
 W��� ����
���
 E�8��� �.. 

    �
 �����
 �3� �	(� 
���	!Deuterium        �!
 ���$��5
 ��	=	 �=��� ��� �/���� 
      �	(�	 �"6� ���7"�
 ����
��
 ��� �����5
 
�� ����      ������
 ����	�
 ���
�
 9� 

: �@�8�
 T���M	 �����5
 ����
� 4�=�M���(�
 ��(��
�
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           ��	!= �!@�� 2!�$� �1 �=� �����5
 ����
�� +
���	 �&�� �1 ��@ �"�	
Result9����
 ����
�
 9: ���/ 9��
 �����5
 ����
�  :   

       �!��$��
 ����
� �1 ����
�
 9: Y��
D.D Reaction 
�!!� �!!�� ��!!�/ 

 '���(� ����
�
� �        �!7
 ��	!=�
 O!$� ��
�
 ���$� ����
�!D.T Reaction ,��	 

       �(:
	
 ���3" ��	�
 �/���
 9: ��� ���/
  ����@	  ��� �����5
 ����
�)   ��� �"�	 

   �
 ���� �1 ���=	Tritium.   #!�
 �=	�
  ����8�
 9: ���@)     EC
 ���� 	� *��"	 

��       �����!C� B� +��8 �� ��
?�	 �
..β .  

        �!��
��
 ,�!� �� ����� ��" ����
	
Process D.T �����
 
�� �1 	� ���=�
 

    �
 �����5
 ���
� �
 U��
�
1T3  ��� EC
 )        B� ��(��
�
 �@�8 �
 ���� 5 
���	 
������M
	 �P���
 ���� �	
�	 �����C�.   

�
 ���$� ���
� �"�	 !Reaction  D.2He4   �!@�8 9!8�� �"�	 ����@ ����	=
 D<�@ ��	"�
�
 �<��$��
 ����
� E
 ����(
��� ��$��
 T.D and D.D.  

8 �1 Y�� ����= �" �@�� I	��� �
100 keV)  �!��
� �1 ��� �"6� �
 
��	 
             �!@�8 ��!� �!�$��
�
 ��
���
 �	=	� ��	�8
�
 ����8�
�
 �"�	 ��"

 �����5


8�
�
 �8�	�
�
 ��"���
 ��
��=�
� � � Ek �(�8
�
 ��
���
 *��"	T4�;�
 9: ) 
 �����
�
 ������
 ���
��
 ,��� �=	�
������:   

                                        T = 2Ek / 3K  

��:��
          ��P5 ��� ������
 �
��	�
 D5	1 �	�� �����
�
 ��� ��	�8
�
 ��
���
 
 �
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 %���
 ��� K� � O�  ����7 5Boltzmann = 1,3806.10-23 J.k-1    

             1Joule = 1Wsec                              
       1eV = 1,602.10-19Wsec =1,602.10-19 Joule                         

                               1,3806.10-23 J k-1 = 8,62.10-5 eV k-1   

�= �" �@�8 �	"� �
� �	(�:� I	��� �
100 keV: V   �!�	�8
�
 ��
�!��
 �
������
 �����
�
 I	���:  

           T = 2 Ek / 3. 1,3806.10-23  =  2.105 / 3.8,62.10-5 =  

2.105 / 25.86.10-5= 7,8.108 ≈ 8.108 k                          

T ≈ 8.10+8 k                                            

 H�(��8� *��"	          ���$�!�
	 ��	= ��� ���� ��
���
 ,�� A�$���� �1    �!
 �!�"
      
�" ���
�� �����5
 ���
� ���(�	 �"$�	 �����5
 +
���<� ��P��G  �!��
� 9: ��� 

    ?�� E
 �
���
 ���� +
���5
��  �4= F���� P     ��
 ��!��
 �!7
 � !�   E!
 ��=	��
  �4= ������ ��=�"�
P >�
 ��.     ��� ��
�� U��� +
���5
 ���
��	 )   +��8 ��	 

 9P
���
 ����C5
 	1 U�	��
 ��
�� �8(� ��� ��� +
���5
 
��ignition Point 
   ����� 9��
  ����
        �!��
�"� ��	!=	
�
 +
���5
 �
	
 �" ��
" +
��.   �!��
�	 

       '�	=	
 
�� ��" 
�� B��� E����
 �
�"�
�
 +
���5

      9!: �����
	 8;? ��� 
        ��=$�5
 ���
�� ��	�	 �"�� �	�� +
���5
 
�� F��� >��	.    %��"� D<7
 *��"	 

     �4= T���M ��=�"�
	 ��=	����
 ��
��= E
=�	P >�
�
 �)  
 ���
�	    ,�!�� �"���
          �!@�8�
 T���� �"

 ���
��
 ,�� �
	 ���$� �
 9�3� ���
��
G       #!��(�1 �!
 
�!�	 

 D(��� ��?��
"      T�	���� �	���
 ���" 9: ��        EP�!�8�
 �!
 �!����8�
 �@�8�
 T����
E���
�.   

 � ���	�         ��
 �!���(�
 ��=	 �$�$&�
 �
���
 Y	� �����
 ���
�� �"6� �!���=	��) 
 �
 ��(��
�
 9: �
3�	<��$
 �	=	 ���(������5
  . ����=	����
 ����(�
 >��� �
	

     ��- �����5
 +��8 ���

�           �!�- ����!�5
 
�!� >���� >�
���
 ��	� #� �"�
�

��"� #�      <��$
 >���� �"�	 ��	�� �"� �   �����5
 ��� 
L      �!�� 
	!�=�� �� �

     5	 ���(
 �=���� �	�	�
� ������
 ��)     �����
 �" 9: �
�� �"�	     ��
��
 �"� 9
���
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   ��"$�
 ,�� +�(��� +
��	)       �����5
 ����
� �
 ��$��
�
 �@�8�
 T���� I1  .. ��
��
   � 9� ���P��4�$�
 >�
���
8& ���	���
 9)       ��$�� 9P��4�$�
 ���8�
 ��� �=� *��"	 

  ��	 �����5
 ����
�8&     ���	���
 ,�� *��" 9  �1    ��P��4�$�
 E�?
	
�
 9: #�&��
�5�� ���&�
��� ��� �� I��
	 ����.   

D<7
 ��P��4�$�
 �����5
 ����
� ��$��	:   

              �!�� >�!�	�
 
�!� I	!��� +�;
 �=� 	1 >��	� �"$��
     �
�� �!
 �!���
�
!Deuterium  ) !�
 ��
��= �
 ���" ���� %�(� �
���
 ,��	! Deuterons 

         ��@�8 ��
��=�
 ,�� �
 ���" ��@ ,�� %�(�
 ���
��	 ������
�  ?!� � �� E  �!��$
���
��=� �
   !Deuterons     C!@ %<- ��� �8@���
 	     !�
 �
�� ��!�	��"�� �! 

Deuterium)   5 �<��$��
 ,���	   1 B��� I �����
 )      ��!��
 �=��
�
 �@�8�
 �� 
Free energy5 �$��? 9�
��
 ���$��
 E���� ���
�� 9$"� ..  +��8 �� ���"� �
"

   U�	��
 ��� �
�"�
 +
���5
)   ���� �=� *���	  +
���5
 E.      ��!��
� �!�� *��"	 
     �=� F=��	 ���$�� �����5
1'?�          �1 �!��
��
 ,�� 9: �
���
�
 Y	��
 �" ��� �

�8�9     ��� ��$��
 ��@�8 � 	 %@	����Y  �@�8 ��
����  Coulumb)   �
 *��"	 
    ���$��
 T���M E���1     <�
 ��$��
�
 ��
���
 �	=	 	� ��"     ���!�: ��"� 9��
 �
4

��	�D(��� ��
	 � +	$� 9T ≥  8.108 k.  

��	���
 �
�
�
 8�(��
 �
 ��7"� ��$��
 �=� �����5
 ����
� ����:   

1D5	  <��
 �:�7"4 �
 �
  !Plasma     D(��� �"� �
" [�C�� ���	     �
 4�- �� ��"�� � !
Deuterium   8;?!�
	 ������
 ��
���
 ��� >��	�
 9: �	=	
�
1013 mbar 

      �=��
�
 #��
�� �
� 4�;�
 
��	        B�!�� �=�� �	��
 +	$� ��	/�
�
 �<��$��
 �

    ����� �
 �����
1kmol  �
 �
 !Deuterium      5 ��$��
 �@�8 ���@ 98�� I��
  
'���(� I	���	 ��(� �17000MW�
 �
 8��& U��� 8��
�
 
�� 9: 
���	 Plasma 

'���(� I	��� 8;? ��� �109 mbar)  ��!=$�
 8	;?	 ���@ ����� �����
 ,��	 
����(�
��
 � 9��
 ����=	������ ��� ��� 	1 �H�P��4�: ��� �"�H�=	�	�"� 5	 ��.    
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  � ���
�� �"�	�      �=��
�
 ���(��� �"���
 D5	1 �=� �����5
 ���Result  8;?	 
  %	��
 ��� 4�;�
)            +!��8 �!� ����!�5
 ����
� %�$&� �=� ����
 
���	 

         �
4�� �(��8� ��
��=�
 �:�7" �
 ��@ �� >��;��5
      8;?!�
 
�� ���� 8;?�

   I����
 >
	��
 8;? ���)    	1 ���&��
�
 ���(�
 F���	      *��!"	 ��	�(
 �=��
�


�
 4�- 8;? ��� �=� ! Deuterium gas  �!� ������
 ��
���
 ��� �(�� �3� 
�
 ��� [	
��� 8;? ���(� !0,1 to 0,01 mbar)     ,�!� �!�� ��!�� �!
�	 

'��&1 �	(� �1 E�8��� ����8�
�
��3� 
F����
 +��8�
 ��� �.   

   
 �����
 �@�8 T���M�          �!� �=����
 �@�8�
 ���
 ��$��� ����� �8��
	 ��� �"�
�
 Y	� ���	� !Deuterium Plasma)    !�
 I1 �!8	�&
�
 ,�!�� �4!�� 
���	 ! 

Plasma    ��3��
 ��
�" �	"� �1  Ionized        �!�$��
  ��
��� �
	��
 �$�$& �:�7"� 
�
��	 �
 ���<
�
 ��P
 +	$��
  !k.  

             T�!��M 
�� �����5
 A	?	
 9: +
���� >��4�$�
 ���8 ��"$� E�	� ��� ���
   �=� �@�8�
1           D(��� ��"� 9��
 8�(��
 ��- 8�(��
 �
 ��7" ��� ,�/� �$�� �   �!� �

�
�(�8
�
 ��P��4�$�
	 ��
���
 ��
��
 �
� 8�(�:  

     ��$��
�
 ��
���
 �
�@ ���"� �(� D<7
 )      ,�� ���� �	� I1	    �!�$��
�
 ��
���

         ���<
�
 �
 ��P
�
 +	$� 9��
 �����5
 ����
� 9:k)    ����
 
���	 �   �
 ��: �=

  ��
���
 ,��� ��@G   � ��
���
 ,��   ���   �����
�
 �@����
 �:	��
�
 ��
���
)   �!"�	 
     !H�
�� ���
�!� 9!��
 ��
�!��
 ,�!� �(�(����  �!�"���
 ��
�!��
 � Kinetic 

Temperature �   ��
���
 ���   ���� 9��
�      !�
 4�- ��
��=� ��"���
 �@�8�
 ��! 
Deuterium.  

    �
 9: ��	=	
�
 ��
���
 �
1	Plasma       ��
��!=�� �!�"���
 ��
�!��
 �1 E
 
 H�= ��$��

) : V  �
 ��
�� �  !Plasma       �:�7" �� ���;� ��"���
 ��
���� ������� 

    �
 �&
� 9: ��	=	
�
 ��
��=�
  !Plasma ���;� .    � ���&1 
�� ���	 '��
 '��
	 
  �
 
1.Liter Plasma�	=	
�
 �    I	��!
�
 8;?!�
 �!�� 0,1mbar)  ��
�!��
	 

��"���
Kinetic Temperature   I	��� ��
��=�� 350.106 k ) ��
�� ��	=� 
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I	���75400 Joule)5 ,�� ����(
���	  I	��� 1  �!�� E�� ����- ���
� �
 �7"
1/4 Liter������
 ��
���
 ��� >�
 .   

 ��� �
	       ��
	 �����5
 ����
� 9: �
�
 8�(� �
 E�     9��
	 �
�
�
 �8(��
 *��" 
��� 
L� 5               !�
  ��� 	1 O�� ���
�� 9��
 �8(��
 9�	 9(��8� �� ��� �=	�  !

Plasma. 9"�	   �
 �:�7" �(��   !Plasma        ��!�� �1 �=� �@�8�
 ��
���5 ����7 
�
!Plasma +�;
 >��	 9:G �$& ���� >��	�
 
�� 9: ���	  +�� �
" 4�;�
 8;?

    : 8;?�
 %�$&� ��� ���"�	V �
 �  !Deuterons   ���� F��� *��� �   +��8 ���
 
:��
#�  ���	� ���	8 � � �       !���- E
 O��	 >��	�
 8P��� �
�� ��8��    !�
 �!
  !

Deuterons)       >��	�
 8P�� E
 ������
 ���
��	 � � �($,�    �!�	�8
�
 �@�8�
 T���� ) 
    ��
� ��=
	�
 �@�8�
 ,�� �
�($�	    �
 ���� �����5
 ����
� ���! Plasma   *��!�	 

�	 %�?� �����5
 ����
��$8g.   

             ����!� ��!��
� %!�$&� �!=� `�	C� �	�� �����5
 ����
� �����
�	
�
!Deuterons  8P���
 E
)  ��� �"�	 �         ,��� �� �=	� �1 �=� �"�	 ������
 9� 

    �
 ��
�� A�$���� #�� �����
  !Plasma    8P�� �&��� 51 �=�  >��	�
    !�
 /$�� ! 
Plasma �@�8�
 ���?� �
 .   

           !H�(��8� �!�� ��� �� �8(� �
����&5
 ��� *��" ��/ �"�	�)     �!��
� 9!�	 
�
!Pinch effect.  

   2�!(�
 �!
�� ��73� ���� ���@ �
 �:	��
�
 ��
���
 ����/�
 ,��	 Pinch 

effect) '�	� ���� 9��
	 
H
�
 � ����!�5
 ����
� 9: .  
 ,�!� [�C!�	   �!��
��
������
 �8��
�
 �(��8���:   

2�(�
 ��73� ���
� �1 Pinch effect 8& �
� B�����4
	�
 �����(�
 �� D<��@ �

�� �
�����=�� ,�=�5
 O$�� 9P����" ���� �
�?�� � ���
��
 ,�� *��"	 W�� ��� 

     '�	��1 X
� �
� ���$��
 O$�� B����     � �
� >����"�� �@�� 4�;� �"C�
 9�
	8�1  ���� #
 E$��
 9P����")            D<!(� 9P����"�
 ������ �@���
 4�;�
 �	��1 9: +�&� ���
��
 ,��: 

H���8��;
�   �P
� 8	8& �"C� ��  ��4
	�
 ����(�
 )       �!�=� �(��
 
�� 8	8& 8;?	 
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 �4= �4�P     �	���
 �&
� ��� 4�;�
 
�� ��)       9P����"�
 �(��
 8;? �	"� �
�	 1 ��"
�
 9: �	=	
�
 4�;�
 8;? �
2�(�
 ���
� ��/� �	��Pinch effect ) �1 I1 

�	���
 8P�� �� ������	 �	���
 �&
� 9: 2�(�� 8	�& ��� �	��� 4�;�
 ��".    

  

  

  

  

  

  

  

  

  

    4�;�
 �
�� �@	�
 O$� 9:	.     �=� ���
��
 ,���	 1  ��     ���!�8��;
 �!:�7" �=	
��$��
 ��P����" �@�8 *��"	 ��$��
G�
 *��" �� !Plasma  �@��"  >����"�� ��=

     8�
�
 ��$��
�
 9P����"�
 �����
 ���@ E�8����    �
 9: 4�;�
 ��C �  !Plasma  
���	 
�	(� �1 E�8���:   

�
 �	
� �
�!plasma   U�!��	 E$��
 9P����" ���� #� �
� �"C�
 9�
	8��
 
�
 ���
�! Pinch effect�
 �	
� 8��
 �4��  !Plasma) ��� ���	 8;?� I1 
�&
��
)& *���	 �
 8�� plasma �	���
 8P�� �� �����)  B�!�� �@	�
 
�� 9:	 

  � ��
���
 A�$��
         !�
 �!��7�	 O�� �=� 
���	 �@�8�
 9�= �=  !plasma   9!: 
�
 ��
�
�
 ����8��;
�
 +��8 �� �	���
 !Magnetic enclose  of Plasma) 

�
 ���7� D5	1!Plasma  �
 �	
� ���7	 ����8��;
�
 8	8&��� ����
�
! Plasma 
         ��	��
 9: ���/ ���
��
 ,��	 ��/��
�
 �@�8�
 �<;��5  )�(����
   O�!��
 
��	

�
 ����
� �
 ,��-	 9��8��;
�
! Pinch effect ��� 
L5 � � 8��1 	�  O�!�
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�
 �	
�!Plasma  �5 �@	� 5 ���
	�
 ����7�
 Y���� 1 Sec   ��8�!� 5 �!�� 
 �
 ��
��=  !Plasma  �	���
 8P���  .�"�	  �
 �	
� ! Plasma     �!@	 ��� 
�� 

      �	���
 8P�� ��� �	(� ��8��	 ��
�� ���@)       �!=	 �
��!��&5
 �!�� �"�	 � 
�
)��"C
 9: �1 I1 1�
 8��& *�"��
	 ��	��
 �=	� �	���
 �$�!Plasma   ,�!�� 

 ��	��
��
 �	
� �"C ��& !Plasma .  

 �P��4�$�
 >�
���
		    ����� ��":1 ��� 
	�=	 ���:  !��
 �    �!�=     �	!
� >�!��	
�
!Plasma ��P
�" 9���� �	��1 �"C� Torus .   

  

  

  

  

  

   

      9P����"�
 �	�
�� ��	��7�
 ��$�
�
 �&
� 9: �	=	
.   ���&� �
 
��	  
 L   9!: �
 R��	
 9: �����5
 B���1 4"�
�����
�3:   

)     Max -Planck Institut ( Plasma Physik Garching Muenchen  

	 �
����&5
 
��� 98�1�
 ��
! Stellarator Wendelstein IIb  )  ��!@	
    �?���
 �@	�
 9: �
����&5
 ,���  ��� �	�	�
       ����!� ����8��;
 �	@	 �(��8 

�
 ����
� ���7� !Plasma��
�/�� ��	=	 .   

����-	 ��
���
 �����
 �
��� �
 ���� 9: *��"	UdSSR .USA� �   ��!� E��!�
�
����&
)��
	 ��	
��
 �=	 
���"�� 9:  TZETA .   
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	��� 
L ����
 ��� �� �� ����� �=��� ��
 H�(��8� ���(
	�)       ���P�!�4�$�
 �!
 �
3�	 1 �

       A	?	
 �� ��� ���(�
 ��(��
�
 9: 
	���
 �� %�$&��
	 ��:
	�
 �@�8�
 T���M �����5


   ����@5
	 ������M
	   �	����
 9"��
 8	;?
	�@�8�
 2(�.  
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א���'א�
א�&��%�$��
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21 .1 ��",�%� "��  

�             �!@	�
 *!�� 9: ����C	 ������ +
�� ���
�
 ��
��= ����8��;
 >��4�: �
  9���$�
 9P��4�$�
 �
<��
Ampere    ��� 9: 1822       ��!� �1 ��/3: W�: 
��	 

             ��
��!= 9!: ��	=	
 ���;� �P
	� �
 ����
 �
	
�
 9: ����8��;
�
 ����
��

 ���;��
 �����
)   � ���/��
 ,��	     �4=�
 �
���� ���$�� ����� ��( !P   �!�P����"�
 ��

Molecular Currents  ,�!� ��=	 %�" [�C� �3� ��1 E8��� �� ��	8 �@	� 
                �!�� �@	�
 *�� �
	 b ���	��� �=	 ��
 I1 �
	 ��1 ��1 �
	 �
�����

L �

   ���P��4�$�
 >�
���
 ��":1 ���	�)        ���	��"�� �1 �=		 %�� ��P��4�$�
 �	���
 �
	 
�
   �
	��
 �	� �	�� ���)            ��!�� 	1 ��P
� �"C� ��P����" ��
" ���� 	1 I�=� ���	 

��;� 9P����".     

   %	��
�
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	  #�1�
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 �!
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 9: 9P����" ���� �
  �!����

�
         �
�	� 	1 ��� ���@ ,��� 98�� 9��8��;
 �(� 9: ��	=	
G    [�C� ���
��
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� ������
 ��	�
 �	8&�
 ��/�	       9P�!���"�
 *�!�
�
 ��!��&" �
�	��
 �����   
Elec - Generator #�	8 ��;� 9���
 *��� [�C�
 ����� �����
� 98�� ���	 

L�	(�
	  Power = P�76
�
 �������
 �����
�
 I	��� *���
 ��� :   

                                      P = I . L . B   
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 �����
 I	���    *���
 9: ��
�
 9P���)    *��!"	 L   �	!8 
9���
�
 *���
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	 B  !�   9�!�8��;
�
 B!��
 ���!@ I	�� Magnetic 

Induction.  
�� �"�	  1      D"�� ���;��
 *���
 ��8@ ��
 ���&�     �"C!� #��=� �	81 
 #�	8 ��
	4�
 E��
 a #?��	 L9P����" ���� #� �
�): V *����� ��
�
 �����
 
�� �
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 9: U��� �
�	� ���@Retort Moment  9!:	 ������
 �����
�
 9: ���/
 
 ��	��
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:   

  

  

  

  

  

  

  

I	��� �����
�
:   

                       D = I.aL.B                     

          ����
 ���@ �3� ���� �	(� �1 E�8��� ���
��
 ,��	D      �	!(�
 I	��!� 2.ILB 
 E:��
 A
�� ��?a / 2 )
 I��
 �@	�
 9:   I	��!� ����
�F = aL  �!����
�
	 

I	��� �
�	��
 	1 ����
 ���@ ���
�� ��
�"�
:   

                   D = 2.I LB .a/2 = I.F.B               

     ��(�
 �����
�
 ,�� 9:I.F           ��!���
 �!
 �!=��
�
 ���!�8��;
�
 ���(�
 #�
�� 
 ������
 �����
�
 I	��
�
 I�P
��
 9P����"�
:   

                          M = I.F                   

       9P����"�
 �����
 ��/� ����
 9: �"�	I   ���C" e0     *��!"	 �	��"�M�� ���& 
 ������
 	1 �����
fI	��� ���8@ %�� I�P
� ���
 ���  ( r ).    
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   I	��� ����
�
 ���
F = πr2) ���!!��
	 
  I	��!�f = ω / 2π 

  ,�!!� �
4!!�� 9!!:	
  9!!: ���<8!!�5


�
�
    F��!� �(����
 ����
������
 �����
�
 I	��� ����
 ��
��= 9: ����8��;
�
 ���(�
:   

                                  μ = e0fF = e0ωπ r2 / 2π  

       �	(�	 ���&� �3� E�8��� ��� *���	  ��    �	��"�M
 �
�	�� ����8��;
�
 ���(�

������
 �����
�
 I	���:  

                                 μ = 1/2.e0 r
2 ω  

   �����
 ���	Bohr   ��
�
�
 Bohrmagneton   !8�
�
 ��P����
 �   �!���
�
	 �
������
 �(��
�
 �5���
�
 �����
�:   

             m0r
2ω2π  =  nh =  m0r

2ω   =  h / 2π   n =1,2,3   

�"���� ��� ������
 �=��
�
 �����
��� ���
 E���	  : mv = m0 / √ 1-v2/c2
  

                                    r2ω = h / 2πm0  

     ��	��!
�
 ���!�8��;
�
 ���!(�
 �!����
 9: ���<8�5
 ��@ E?	�μ = 

1/2.e0r
2ω  �����
 ��� ���� Bohr Magneton������
 �����
�
 ��	��
�
 :   

                                    μBo = e0.h / 4πm0  

  
�
 ���<8�5
 ���	          ���!�8��;
�
 ���!(�
 �!����
�
 ,�!� ���8�� �:	��
�
����� �	��"�\�..  

μBo = 0,09273.10-18 A cm2                                        

           ,�=	 I��
 �
	��
 �	� �
	��
 �	��"�M
 ���
 �1 ��� Y��Bohr �
	 �   �!": I
#� Amper �;
�
 ���
� #�3��
 ��
��= 8�;
� I��
 9P
���
 O�8�! Iron Nickel 
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Cobalt )    �3� �=	 �(�(���� �"�	 #    �	P�!
�
 �"� �� )        ���!
 �
�	� ��!" �!� 
 �	��"�\� 9�
��
 �
�	��
 �4� ��	 ��"  �	��"�M
Spin.  

 9�	� �	��@ ��� *��"	Pauli Principe 9: ��	=	
�
 ���	��"�M
 �" �
�� 
�C@�   
/�
 ����
 %<- �  ��
�	� ,�=�
	 � T	�4
 )   �	�(
�
 � ����=�
 ��)   ,�!��	 

 �=	 ���
��
�            ����
 %<;� ���&
��
 ��C(�
 9: ��	=	
 �"� �� 9��
 �
�	��
 ���@ 
      � `�$
�
 9�
��
 O�8��;
�
 ���@ 9: 	1#�.      ����8��;
�
 ���(�
 ��� +����
 ���/M	 

Mag-Moment 9�
��
 �	��"�M
 �
�	� *��"	 Spin ���!
 >�
���
 �
�1 Hass 

and Einstein��/� ����&5
 +��8 �� +����
 
�� �)9����
 T�	
��
 9�� 
���	 :   

  

  

  

  

  

  

  

  

  

  

 ����&<�	1 ��"�� ���� �$&� *����  8�&� �(�� 9:���
 �����
 �
 ��8@ ��&
   *<��
 �
 �$� �&
� ..          +��
�
 �����
 ��?@ ��� 9P����" ���� �$��
 ,��� �
� �
�	

       ���
 ��	
4 ��� ����	 �	�� �$��
 �&
� 9:       �	�
 ��@ ��	=	
�
 �����
 ��- ����= �
�����
)   [�C� ���
��
 ,��	  #�1           ��?!(�
 �!��� ��!�	��"�� *���� �����
 �	�
� 
H����1   ����=�5
 �" ��� �)   ��
 ��@ �"�	 � � 	 +���� H�
�/� U��    �!�
	 ,�=�
 9: �.. 
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    ���
��
 
�� 9:	�   �	� +��8 �� �
��
��      !����
�
 ��	��
 ���	� ��?�� 9�
��
  �
������
:    

                                 Psp = m0r
2ω / 2        

 �������
 �&3� W����
 I�	��
 %���
 �1 ��� ��� �
 
��	+1/2.h/2π  and 

-1/2.h/2π          �!����
 ��?!@ 9: ��	=	
�
 �"��C
�
 ���	��"�M
	1  E!
=  �	!(�
��� O"���� �
�	�.       �
 �
	��
 W���
 >�(� ���/�� �	�� 
��	       �!" A	!
=
 �3� �P�(

     (�� +�;
 T�	
� 9: ��
	��
 ��?���
�    ��;� �	�� Constant      �!
 �(�� �
 �"�	 
       I�P
��
 W���
 *��"	 ����(� �1 E�8��� ��?(�
 9: O�8��;
�
 ���@� ���	��"�\

         ���	��"�\� 9�
��
 �
�	��� ����&5
 
�� �=���	 ��?(�
 
��%��� �1    �
�	�!�

�
 I	��� 9�
��
 !Spin  = 1/1.h/2π .   

21 . 2  Nucleons Magnetron.
�
	
   

               �3!� *��" �	(� ����
 �
	�� �
�	��
 W�� �� +����
 ��(�
 9: �"�	 �� �
"
�= �"� I1 �
	��
 ��
��= �
 �
Nucleon   ���!�8��;
 ���!@ ����� Mag- 

Moment    �(����
 �����
�
 I	��� �����@ )       �����
�
 ,�� 9: ��� �"�	 m0    �!�� �� 
 �	��"�M
 ���" �� ��"���
 ���"�
 �����" I	���mp8�
�
 �������
 �����
��� �:  

                         μp  = e0h / 2πmp             

     �1 ���!=	 �	!�	���
 �!��" �!�" �$�� �����
�
 ,�� 9: �"�	Nucleon 

Mgneton �
	�� �	=	
 1 � �;�1836�
 �
 ��
 ! Bohr Mgneton) *
��	 
���          �
	!��
 ��
��!=� ���!�8��;
�
 ���!(�
 � !��   
 ��!�  %!��&    !�� D<7!
              !

Proton = +27927μp 

 �� �
1	! Neutron     �!
�(� ��!���
 �
��= ���$��-

1,19130μp 

       �3!� �
	��
 ���@ �
 �/��
�
	   !
 �	!"��	���    ��!(�
 A	!
=
 � 
   �
	��
 ��
��= �"� ����8��;
�
)   5 �=����
 ,��	  �    #!�� +(��      ��!"
 9!: D<7!


(+2,7927-19130)μp = +0,8797μp)  �!
�(�
 ,�!� ��8�1 )   ���!(�
 �!"�	 
�
 �
��=� ����8��;
�
!Proton  ������
 �����
�
 �8�1 :   

                                  μBoh =0,09273.10-18
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       μp = 2,7927 . 0,09273.10-18 / 1836 = 1,41.10-22Asec cm2       

21 . 3  ������
H�	
 .
�
	
 .�#@  

    ��(�
 ��@ �1 %	��
�
 �
	 �         ���;!� ��@ 9� �
	��
 9: ����8��;
�
 ��P��4�$�
 
'���(�  �"�� 5 �)        ��(�
 ,�� �3� �?���
 ���@	 9: ����	� �"�	 �     O�!(� ���;�!�
 
�@��)              �!���
�1 �!�� ����= O��@ +�8 ��	8	 ��=	 ,�� �����(�
 +��8 ��	 

  5�=
 9: �
����	    ��
�� ����� �	��P��4�:)  �(��8�
 ,��	   9!�      B!��
 �	!=	 
  �
	��
 9: 9��8��;
�
)    D<7
 *���	 1    I	��!� �!�
=� �����(�
	 ���&�� ���� ��&

3.cm3O��=�
 9��8��;
 �(� 9: ��?	 ..   

�
 �
�	� ���Protons ��;� �	"�	��= ���� �
�	� #�C� )��(�
 �
�	�	 � 
 
 ���	�	���
 ,��� ����8��;
�
     9!8�� �!(��
 ,�!=�
 9!: ��"����
 �@�� �
/�
�

 �
���� ���
�� �
����Larmor frequency���/�  �������
 �����
��� :   

                            Larmor frequency   fp =μ.B / I.h   

 ��	�� �	��@ ��� ����C� ���
��
 ,��Newton �P�(�
  � �	(�
 �P = Power 
��?���
 ��;� I	���������
 �����
�
 ��� ����7�
 9: :   

                                    p  = d(mv) / dt  

���	��
 �"���� ���(
��� ���� �
 *��"	)   �!��	��
 ���!(�
 �1 I1 Retort 

Moment I�	��
 W���� �@	�
 ��;� *��" I	��� D = dJ/dt  I�!�
 �@	�
 9: 
 "�	��=�
 �
�	�    ���7�
 �����
 9: �=	�    �J         E!
=� E��!����� ��;�� ,�=�
 9: �"�	 

 ����
Vector  9����
J .  
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 ��;��
 ����
 E
Vector dJ ��	
4�
 ��� ���� *��� ΔΦ �
�	� ���� 9: 
�
!Vector J΄�� I��
 �@	�
 9: � F dJ = JΔΦ I	��� ��
	��
  ���(�
 F���:

������
 �����
�
:   

                                         D = J.ΔΦ / dt  

 ���<8�5
	ΔΦ / dt ��	
4�
 ���� I	��� ωp  ��!" %<- ��� ��	=	
�
 
��P��
   ���<8!�5
 �!
	 W�� �	�
 D = J.ωp     �!�	
4�
 ���!� U�!�� 

������
 �����
�
 ��	��
�
 ���	�	����:   

                            ωp = D/J                    

  
	��
 ���(�
 ���	  ��D)  � 9�	  � ���      ���!�8��;
�
 ���(�
 ��? 5μ   B!���� 
  9��8��;
�
B     �
	��
 W���
 ��73�� J)    9�
��
 �
�	��
 ��? *��" i     �!� U��!��
 

 ��? i.h/2π  )    �5��!�
�
 I	��!� ���!��
 *��"	 ��	
4�
 ���� F��� 
��	
������
:   

                                        ωp = 2πfp = μB2π / i.h  

                        fp =μB2π/ih2π =μp.B/i.h         

������
 �
�(�
 ����8��;
�
 ���(�
 I	��� +����
 ��(�
 9: �=		 �� �
 ���	:      

                             μp = 1,141.10-22A sec cm2
  

     I	��!�  9�!�8��;
 �!(� B!� �	=	 9:	  B =10000Gauss= 10-

4V.sec/cm2 ):V   9�
�!�
 �
�	�!�
 �i= 1/2   *!��� ��!�		 ��!�	�	���� h = 

6,625.10-34Wsec2 .  

�����
 �����
 ��� I	��� ���	�	���
 ,�� ���� *���:   

                             fp =μpB/i.h = 42.7 MHz  

    ����P��
 ���	�	���
 �
1:  ���   T��&�� ��P����" �
��73� ��/)   �"�	 �  O$�� ����
�����
) �	 �@�$�
 ����� �
	81 9: 4��Different Phase Positions.  

  ��	(��	rectifier          9�!�8��;
�
 �(��
 9: W����� ���� ���	�	���
 ,�� B 
    �����
 9��� D<(�HF       ��	
" *�� �$� +��8 �� Sender      �!��� ��� �76� I��
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       �
 �(��8� ,�� 9����
 �����
 �����	 ����&
�
 ���
�
! Modulation)   I1   �!�(��

H��	��.  

  

  

  

  

  

  

  

  

            ��(��� ���(��5
 �$� ���
�� �"C�
 ����
 ����7 *�� �$� +��8 ��	Receive 
     �8(�
 O$� 9: �
� ��� �� 9��
 ��
	��
 ����
�
 ���	�	���
 Phase)   B!�� 9!��
	 

'��=
 D$�$& � '�	���
 �       ��� ��/�	 Y	(� ��=�
 
��	 Oscilloscope)    +!��8 ��	 
�
 I1 ��=�
 �
@! Amplitude )�(� �1 E�8��� 1 ��	
�
 ��� ��	=	
 �
���� Ge 

 ���	�	���
 *��"	��P��
�
Y	��
 *��"	 ) �	�=� �=	� ��	 Resonant���� b�   

      �� �=	 9��
 ���	�	���
 ���� �����
 ���	�      ��	��!
�
	 +����
 ��(�
 9: ���
������
 �����
�
:   

                                     fp = μpB/i.h  

D:	��
 �	"� �
� �����
�
 ,�� 9: ����9��8��;
�
 B��
 B ): V   ���!�
 �!
 #�
�:��
    ����8��;
�
 ���(�
 μ .          �!�� ��
��!=�
 �
 ����	 ���	�	���
 9: �
"	 

�@�� �=	�	)      �!�	�=�
�
 �
���!��
 +!��8 �!� E�8��!� *��"	 Resonant 

Frequency        ,�� ����8��;
�
 �	(��
 Y	@ O�(� �1      �$�� �������
 �����
 �	"� �
�
  ����
 ����8��;
�
 �	(��
.    E�8��� *��"	 �:��
    9����
 9P����"�
 �����
 �����	  .

'���	         ���!$�	 [�!C *��" I	�� E�
	 ��
���
 ��=
 *��" �=	� �����(�
 ,��� �

o b e i k a n d l . c o m



429 

�4=�
 ��"��	 >���P�
 ��
�
�
 ��Molecule Structure)  ���!��
 ������ *��"	 
�	�=��
	       �5���
 ��;�� �
� 9P��
�"�
 *��
��
 ����
� 9: )      �!(��8  F��� *��"	 

     9P��
�"�
 ������
 9: Y	��� 9��8��;
�
 B��
)       �	!�4�
 ��!��&
	 2�$� *��"	 
���-	 ��=	�	�"��
��
	
�
 �
 .  

  

*   *   *  
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